Exprtail with Error Recovery: 

treeNode printError() {


System.out.println(“error”);


treeNode t = new treeNode(ERRtype, “error”,Token.lineNo);


return t;

}

boolean in(int[] S){


for (int i=0; i<S.length; i++) 



if (Token.type == S[i]) return true;


return false;

}

void scanTo(int[] S) {


if (!in(S)) System.out.println(“error”);


while (!in(S)) && Token.type != EOF) 

Token = scan.getToken();


}

treeNode match(int tokType) {



if(tokType == Token.type){




treeNode t = (treeNode)Token;


    

Token = scan.getToken();




return t;



}



else if (Token.type == EOF) {




System.out.println(“error”);




abort();



}



else {




Token = scan.getToken();




return printError();



}


}


treeNode exprtail(treeNode t) {



static int Predict[] = {PLUS, BAR,RPAR};



static int Follow[] = {BAR,RPAR};



scantTo(Predict);


switch (Token.type) {


case PLUS:


    treeNode t1 = match(PLUS);


    treeNode t2 = atom();


    t1.addChild(t);


    t1.addChild(t2);


    treeNode t3 = exprtail(t1);


    scanTo(Follow);


    return t3;


case BAR: 


case RPAR:


    scanTo(Follow);


    return t;


case EOF: abort();


}

    } 

